
User’s Manual

DANGER
SERIOUS INJURY OR DEATH COULD RESULT 
FROM THE IMPROPER REPAIR OR SERVICE OF 
THIS TOOL.

REPAIRS AND/OR SERVICE TO THIS TOOL 
MUST ONLY BE DONE BY AN AUTHORIZED AND 
CERTIFIED DEALER.

cCopyright  2001 The Stanley Works
OPS USA & CE Version
58555        7/2002 Ver. 2

TP03
HYDRAULIC

TRASH PUMP
MODEL: TP0300301, TP0300303

Jeff
Text Box
Distributed by
PumpBiz, Inc.
800-PumpBiz
www.pumpbiz.com



TP03 Parts Illustration

11

1

2

3

4

7 8

1

12

22

21

3

5

20

29

25

21

23

22

26

27

28

24

13

19

6

12

18

11

15

16

MODEL/SN

9
17

1014

INFO



Wing Nut, 3/ 8-16- TP03
Eye Bolt, 3/8-16- TP03
Nut 3/8-16 UNC PLT
Handle- TP03
Male Coupler
Adaptor Fit. -12/1/2 NPT
TP03 Motor Cassapa
Nut, 3/8-16 ESNA
GPM Sticker
Sticker “CE” 25 mm
Motor Adapter Plate
Capscrew 3/8-16 x 1.75
Impeller-TP03
Stanley Sticker
Coupler Sticker
Circuit Type D Sticker
Manual Sticker
Key, Motor Shaft, 3/16 x 3/4
Adaptor -14 SAE / 1/2NPT
Female Coupler
Jam Nut, 1/ 2-13 Zinc
Screw, Slot FHMS
Pump Support- TP03
Stud, 3/8-16 x 2- TP03
Urethane Bowl
TP0300303 (Venezuelan Army Only)
Capscrew- TP04
Lockwasher
Washer
Rubber Gasket- Tp03

12

TP03 Parts List

NOTE: 
Use Part Number and
Description when ordering.

Item

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25

26
27
28
29

QTY

6
1
2
1
1
1
1
2
1
1
1
2
1
1
1
1
1
1
1
1
3
3
1
6
1
1
1
1
1

Description

07210
07208
371503
07207
24061
06264
24381
04353
03786
28322
07202
21978
07200
05152
28786
11207
28788
00635
39426
24060
38702
38701
07206
07209
21917
51301
09661
01324
22294
07201

No
Part

.

126230 Seal Kit

Accessories
NOTE: 
Use Part Number and
Description when ordering.

56761

52720

3 inch x 25 ft Lay-Flat Cam-Lock Hose

3 inch Male Pipe x 3 in Male Cam-Lock Fitting

DescriptionDescriptionPartPart

NOTE: Earlier models of the TP03 used a “DOWTY or HEMA” motor. If you are
currently using a earlier TP03 with either of these motors installed, see your
Authorized Distributor to obtain a correct manual (Manual P/N-07218).


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14



